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1. For the reaction: 3C + 2502 =2 CS2 + CO2, how many grams of carbon
dioxide are formed from the reaction of 4.0 grams of carbon with excess

sulfur dioxide?
40gCx tmol 5 102, 4101g - H1C0, (25 )
3 \2,05 5 C. le
2. For the reaction: 2Al + 3Br2 = 2AIBr3, if 8.0 grams of aluminum are combined

with 5.0 grams of bromine: NG ‘ .
2098 ke 1598l > 206 LB glmol

How many groms of aluminum brom|de are produced?

é?oj/\l X \%\91 x LBt x 20l [Bylmel =
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b. Which reactant is the limiting rec:c’ron’r8 - A\Br 2 S. 16)
509 Bry nlmol x 2 A3 26 g/ 3
(594 8j 3B, —
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3. For the reaction: CO(g) + 2H2(g) = CH3OH (I}
230! 2.02 32.05 .
12.0 grams of methanol (CH3OH) are produced from 14.0 grams of carbon
monoxide reacting with excess hydrogen gas. What is the percent yield for

this reaction?

4D, (Ox Imol 5 CHDH 3205 - IbDD_ﬁCHsD
28, 1C0 mel 1D0% * 75 0%
D 12,639/(00 X
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4. For the reaction: 3CaCly + 2H3zPO4 > Cas(POu4)2 + 6HCI j (3 5C>
lio.98 780  30p.18
How many grams of calcium phosphate would theoretically be produced
from 20.0 g of calcium chloride and 20.0 g of phosphoric acid? 25 .p )
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